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clc,clear all
[num, txt] = xlsread('Shiraz Synoptic Station');%It Reads data and strings from the excel file
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Rain = num(:,14);% Locates the rainfall data to the Rain wvariable
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Date = num(:,4:6);% Locates the Julian date data to the Date variable

Years minmax (Date(:,1)"');% Detremine the first and final years
Years Years (1l) :Years(2); % Creates the vectors which contains all years
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Monthly rain = nan(length(Years),12);
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mean ([])
ans =
NaN

sum([])
ans =

0
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u=1;
for i = Years
for j = 1:12
a = Rain(Date(:,1) == i & Date(:,2) == 3 );
a(isnan(a)) = []; % It removes the NANs from the a
if length(a)>25
Monthly rain(u,j)= sum(a);
end
end
u=u+l;
end

display (Monthly rain)
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Monthly rain =

NaN NaN NaN NaN NaN 0 0 0 0 0 9.6000 105.7000
4.5000 33.3000 41.8000 33.8000 5.9000 0 0 2.0000 0 0 82.2000 243.8000
9.1000 19.2000 99.5000 11.6000 0.6000 0 0.2000 0 0 19.5000 0 33.4000

135.7000 112.6000 49.5000 44.5000 0 0 0 0 0 0 0 89.7000
15.8000 24.6000 39.6000 24.2000 0 0 0 0 0 0 37.3000 89.0000
104.6000 114.9000 10.3000 20.0000 0 0 0 0 0 0 12.7000 17.8000
219.9000 45.0000 66.3000 7.1000 0 0 0 0 0 7.9000 0 75.0000
109.3000 31.0000 47.5000 13.3000 17.4000 0 0 4.0000 0.1000 0 2.3000 243.5000
125.9000 98.5000 88.7000 17.7000 0.5000 0 0 0.2000 0 1.7000 8.0000 0.1000
20.7000 7.6000 110.0000 11.7000 29.0000 0 0 0 0.1000 2.2000 108.8000 80.7000
15.1000 161.5000 42.4000 60.8000 3.3000 3.0000 0.1000 0 0 28.0000 4.0000 174.8000
145.3000 82.0000 123.0000 28.8000 1.2000 2.2000 0.6000 22.5000 0 2.7000 2.2000 12.4000
46.5000 5.7000 97.2000 38.8000 3.4000 0 0 0 0 4.9000 30.4000 97.9000
100.3000 97.5000 95.7000 23.2000 0.7000 0.4000 0 0 0 0.1000 0 0
109.1000 144.2000 54.3000 4.7000 0 0 0 0 0 0 0.4000 12.4000
167.0000 10.9000 2.3000 0.3000 0 0 0 0 0 11.1000 72.2000 94.0000
20.9000 29.8000 9.0000 0 2.0000 0.2000 0 0 0 0 6.4000 141.5000
95.6000 60.2000 31.8000 52.8000 0.1000 0 0 0 0 0 1.9000 30.5000
95.6000 79.3000 101.9000 19.0000 0 0 0 0 0 0 0 60.7000
234.8000 15.9000 5.5000 29.9000 0.7000 0 1.1000 0 0 0 28.6000 305.2000
108.1000 36.5000 31.5000 2.3000 0.1000 0 4.0000 0 0 0 111.5000 32.5000
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